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The figures in the margin indicate full marks
for the questions

1. WWWW%@: 1x8=8

Answer the following questions :
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What is the literacy rate of India
according to the Population Census
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Where the first public sector oil
refinery in India was set'up?

(h) T@Wﬁameﬁaﬁqﬁmmwwn

Mention one advantage of small-scale

industry and cottage industry.

2. ﬁ@mmﬁﬁﬁqmm(m 150 %9

foovo) : 4x4=16
Write short notes on any four (within
150 words each) :

(@) X AE e TRl
Absolute and relative poverty

(b) T et W

Problems of agricultural marketing

(c) mewﬁs@ﬂ@mﬁﬁﬁmﬂ

Disinvestment i public sector
undertakings in India
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Economie reforms
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Discuss the importance of land
reform measures in the development

of rural economy of India. What are
the main obstacles to land reforms?
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Discuss the problems of agricultural

labourers in our country. Put forward

your suggestions to solve the problems

of agricultural labourers.

(b)
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Discuss the main problems of
transport system in India. Give your
suggestions to solve the problems.
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4+7=11

What is meant by economic planning?
Explain the main objectives of
economic planning in India.
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What is regional disparity? Mention -

the causes of regional disparity. Give

suggestions for its removal.
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